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COMMERCE

(Honours Core)

Paper : COM-HC-5026

(Fundamentals of Financial Management)

Full Marks : 70

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Choose the right answer ; 1x10=10

(i) Market capitalisation is a measure of—

WK

(a) wealth created by equity

(b) share price indicator of the equity

Contd^



(c) market price indicator of the
securities

(d) cost of equity, as compared to "

market price of the equity

(ii) Cost of preference share is

(a) treated for tax

(b) not treated for tax

-  . . ' . ^5rr?i^ <iR,vg^ 'f ■

fco . (c) only occasionally treated for tax

^rtim £R?w

.  , (d) None of the above

\ ' (Hi) Internal rate of return is the discount

K ■ i . rate of which—

.  ■ " . —

V  " (a) NPV .> 0

(b) NPV <0 ' ■
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(c) NPV = 0 ,

(d) None of the above

(iv) Current assets are twice the current

liabilities. If working capital is
Rs. 20,000, current assets would be

1

20,000 ̂  '511,

(a) Rs. 10,000 (io,ooo

(b) Rs. 40,000 (8o,ooo

(c) Rs. 80,000 (b-o,ooo

. (d) Rs. 20,000 (\o,ooo

(v) Profit maximisation ignores

^

(a) wealth

(b) time value of money

(c) net value

(d) None of the above

i£|^51Q
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(vi) The net working capital is the excess

of current assets over current liabilities.

oRt^s I .

(a) True (%r)

(b) False (1^)

(vii) In respect of raising finance from new

issue market, companies are prohibited

from issuing shares at a discount

except in the case of issue of sweat

equity shares.

^ .Ci:?!Ff 2t^

CFi^l

(a) True (%f)

(b) False (t^)

(viii) When profitability index exceeds one,
the proposal is rejected.

profitability index "5^

C^slwt 2tW 21^"^ ̂  ̂ I

(a) True (%f)

(b). False (1^)

4(Sem-5/CBCS)COMHC2(FoFM)/G 4 ' ' ■ ■ "v,



(ix) When the company pays dividend in

the form of bond, it is, called property

dividend.

(a) True (^)

(b) False (j^)

(x) The profitability index or benefit cost

ratio is the relation between the present
value of future net cash flow and the

initial cash outlay.

(a) True (%t)

(b) False (1^)

2, Answer the following questions in about

50 words each ; 2x5=10

1%^ srtWR 50"^ "Stlq
Fi^ ?•

(a) State the objectives

maximisation.

of wealth
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(b) State the meaning of EPS.

EPS-^ ^1

(c) State the meaning of Internal Rate of

Return.

(d) What is stock dividend ?

(e) What is cash management?

3. Answer the following questions within

150-200 words each : (any four) 5x4=20

150-200^^

(a) Define opportunity cost of capital. How
is it computed?

Opportunity cost of capital 4 |

(b) Distinguish between financial leverage
■  and operating leverage.

(c) State the limitations of financial
management.

14#?I 4^ I
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(d) Discuss the use of internal rate of

return (IRR).

(e) State the circumstances which

warrants issue of bonus shares.

^ I

(f) Examine the importance of accounts

receivables management.

4. Answer any three of the following questions

in about 600 words each : 10x3=30

£fm eod&r

(a) Discuss the scope and objectives of

financial management.

(b) Discuss modern methods of capital

budgeting.

4^1

4(Sem-5/CBCS)C0MHC2(FoFM)/G 7. Contd.



(c) Define working capital. What
considerations are taken into account

in estimating the amount of working
capital requirements in a newly started
company? 2+8=10

W t% RwbHf

(d) Elaborate the determinants of capital
structure of a corporate entity and the
benefits of a balanced capital structure.

6+4=10

.

(e) Elaborate Modigliani and Miller
hypothesis of dividend decisions.
Examine its validity.

Modigliani

.  Miller ̂  4^ 1

(f) ABC Ltd. is considering an investment
proposal to install a new industrial
mixer at a cost of Rs. 10,00,000. The
facility has a life expectancy of 5 years
and has no salvage value.
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The estimated revenue before

■  depreciation and taxes from the

investment are as follows :

Year Expected Revenue

(before depreciation and Tax)

•  ' (Rs.)

1  2,00,000

2  2,20,000

3  2,50,000

■  4 2,60,000

5  3,00,000

If tax rate is 30% p.a. and the company
uses straight line method for

depreciation—

(i) determine the cash flows after
taxes but before depreciation ;

(ii) calculate the . Net Present Value

(NPV) of the investment at 10%

discount rate;

(in) comment whether to proposal
should be accepted or not.

[The present value of Re. 1 at 10%
.  discount rate (PVIF) for 5 years are
respectively 0-909, 0-826, 0-751, 0-683
and 0-621] 4-f5-)-l=10
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ABC 10,00,000

<t=R<l'^=l ^"5! I^feifyf

NC<lti«Hf ^Tfl^l ^"1; 5 <15?^^ li]'^

'mm mm, ̂  %iH rnm^

^1

^  S

(Rs.)

r  2,00,000

2  2,20,000

3  2,50,000

4  2,60,000

5  3,00,000

7^ ̂5^ <^ 30 ^

(i) 1w 9\^ 2m^

^^r<3Wl;

(ii) 10 *M^*t ̂  £tf^
mim "sfij ■n'W mm;
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(Hi) Sl^«tWf'5lT ̂  CT ̂  ̂ .

[10 *t^\*t ̂^1^ ̂ 1^ 5 1 WR W5iR

0-909, 0-826, 0-751, 0-683 ̂
0-621]

■/ .-
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